\  TrsscreT G ) r

L. Ala-ud-din KChiljiStommader fraeveh
IV. Itutmis

(a) IV, 1,111,
(b) TV, 10,111
(c) LI I, v
r——.m_}_Ev' [' I

Ans. (b) : =
THE LE TITETRTS
SemfT ged] dw (1211-1236 §)
(HeTE 3
A Fersi et 5o (1296-1316 £)
e gt ik (1540-1545 )
A 0¥ 5 {1556-1605 §)
r Which one of the ﬁ-:llﬂ-wl-g saints  was
contemporary of Shivaji?
= d & =i & ww forarsht 3wt &7
{2) Tukarm/JHTH

(b) Chaitanya/ 97
(c) Namdev/ TaEe
(d) Shankaracharya/SHar=rd

Ans. (2) : #1 q@e frard & WA 41

A CopiE oA
v (788-8203) Tl A sAEER
AT (1486-1534) CHIGH T T
THAT (1 608-1650) TERTE Al W
AR (1270-1350)  FEATE e

3 Who was the firsi Governor-General of

Bengal?
s ¥ wu e T e 47

(a) Lord Clive/até somEs

(b} Lord Warren Hastings/@i% a1 #fems
() Lord Lytron/@f8 e

in Ans. (b) ;mﬁwmm

(d) Lord Ripon/&E figd

S
H

AT A T (1774-85) m*
Lol Le )

e fere (1876-80) e
L L

| R (1880-54) wod FeafE =
T wE
1881

e FEa de v T A T %
i % g A % A 9 #1983 1833 § g
W A (A T g A § TS 9§ 0
i fem )
4.  Charakasamhita is a work on
AT daft & .
(4) Polityredify (b) Medicine/ T
(¢) Architecture/SFEGEeT (d) Mathematics/M0R
Ans. (b) : TF TF W0 HgAT & AR 8 A w
(w1 #90) & e # w41 T WS T A
AR 2 5 e o s iRt s g |
5. Which onc of the i'u’dnﬁng pairs is ince -1*

matched?

e # & wiw-wr e ah T &7 '

(a) BC.26] - The Kalingarsferm g

by A.D. TR - Comineéncement E]]alm'. 18
TF FET W OAEHE

(c) AD 622 - Commencement of the
Elﬂqﬁﬁq ?'I ﬂl‘ SR -4

(d) A.D. 1709 - Death of Aurangzeh =

: ﬁﬁ

Ans. (d) : ST 3 g9 1707 § & —h
1 aifm T wEmE @ g mﬁl Vs
o & sl 1 s o e &
E mm T A A A % i
nfte | 78§, & v He T 9
£ ES e
6. Who among the following is kng
“"Grand Old Man" of India? N
¥ # fw e & s siew 49 % am
wrn e &7 :

L B e

'u LT
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[Ans. (0) : T W A F) 36 A w @A)
g iz aftem 49 5 A A wmn o &) 9 gas A
-' IR T, T TR, 1866 1§ ¢fm

e Terwn od (886, 1893, 1906 f Wn
i & arem g ) T WEE T ‘wed om
Rl wA = i

1, Twa Home Hule Leagues were started in 1915-
16 under the leadership of

B 1915-16 ¥ fEod Sge o 3t §io s
LTl
(a) Annie Besant and Lokmanya Tilak
o i 3t Sww fors
{b) Tilak and Lala Lajpat Rai
fet® #R @en #aea 1
(¢} Tilak and Hipin Chandra Pal
faer® 3l Wf==s @
(d) Tilak and Arvind Ghosh/fe it = o
Ams. (a) : WA EnwE @ o e O
¥z vs e e frew 3 R wdE, 1916 d B
Ae fomet. 1916 7 vl = 9 FWEE T B W
A1 frEs 3 woe v dw am o S 3w e

e-—g-sfE A9 SR T Fen W dHE W
mqﬂmmﬂ‘r. #1917 § anay o f, =i
ﬂﬁﬂ%ﬂ?ﬁmqﬁ?ﬁl I
8. Match the following:

ﬁ'ﬂmfﬁmaﬁ \ : By
A. | Brahmo Samaj /| [ | Swam Uzu:l:mand
! ]ililm | | ¢l
B. | Ramakrishna | 2 Da:.-'anam_:l.
MissionHFE Saraswati / THF
foem . wEE _
I 1 EHl| Roy /
C. | Arya Samaj | 3. | Ram Mohan
W w9 T A T
' idharalu Naidu
D. | Satyashodhak 4, | K. Sridhara
Samaj / /%, s TR
AT AR 4
5. | Jyotirao Phule /
wifama g
A B C D A B C D
2 3 5 I w3 1 2 4
¥ 1 1 3 [d]lﬂll-ﬁ
. Ll
IK2E
1875
1897

Ans. (d) ; I W W @ AW A S
@E AEE (1942) ¥ wow R T 98
SoPE, 1942 ﬁﬁﬂgamﬁmmmﬁ;
3 Firar a1 ‘Pl =Et

10. When Subhash Chandra Bose resigned from
the Presidentship of Indian National Congress,
the seat was offered (o

wm gewE @ 3w T Wi &

sreqy ug & gehe fra @ @ wE W W

faner iy wan?

(a) Jawaharlal Nehru/ STaTETeIe: 6%

(b) Pattabhi Sitaramaish 75 WA

fc) Dr. Rajendra prasad/T. T 5=

(d) 1B, Kripalani/ % Foeeh
Ans, (c) : 51 1939 ¥ N 3= T2 & =44 64
g @ T i v e e & e gL e
P gy T wEE ST & e aE
+ fai e IR 0E @ oeiE X R @ S o
3 a2 T AR S e v W
ﬁﬁmﬁr‘&gﬂ'ﬂ'ﬂ?#mﬁiﬁifl |
11. The Salal hydro-electric project is located

across the river

e A -fareret aftae i T o feaw 87
{a) Jhelun/BeH (b) Ravi
{¢) Chenab/feam {d) BeasSH
Ans. (C):
ﬂé‘r&iuﬁﬂlﬂw weafEm T4t
T REE wH TR
=i /O 9 Bl il
wene- B ofidrn T
et S e A8
e Fersiry 1t
amferen witatE foema =8
12. Vernal Equinox takes place on
i e g &

() 21* March/21 7t W
(b) 18" June/18 T R _
(¢) 23" September/23 Tl B
(d) 22* December/22 Rt T

el

1873

Scanned by CamScanner



gy mmﬂﬂ'ﬂiﬂﬂnl&iﬁhnhnmmfn

14. The Hm;élagxa E:?qhnual Park is situated in
(3) Madhya Pradeshms i
(b} Assam/zmg
() West Bengal 9y sy
_(d) Kerala®m
Ams. (h) : — |
e - HEf
SIS T T it o
FHB AIAA U : e
IR e O . mw
ETF-'FT EFiEng Ui - T Fe
I5.  Which of the following are rivers of the
Himalayan river system?
faferfas o @ == o fiaendt =9 @3 =
=feaf §7
I. Kaveri/=radt I1. Ganga/7m
M1 Brahmaputra @&97 1V, Godavari/igrerdt
(a) Tand I1/ 1 3 11 (b) 11 and L1 11 #7100
(c) r|| ;-.mdw [ S IV (d) T and IV/ 11 51 1V
Ans. (b) : Hﬂgﬂ feamerdl 7% w1 & Al 3

aﬁﬁﬂﬁﬂ:ﬂfﬂmﬂaﬁmwﬁrw%mqﬁ

1 35T FEE F I fae 0 0§ AEe T

feqes @ o wEgE 4 F I fAEA & TEEE HE

% g Sy g0 i @ g 2 el A6 @ e

ofidl Wiz F FEw UeE § AW FEl T w IEm

qfgndl o1z & #mff Ters 3 g0 g

Bank rate means/&% 27 = ardf -

{a) Inierest rate charged by moneylenders
direanB-aReile el c i A

(b) Interest rate charged by Sheduled banks
gl 4% g & A5 A =

[{:j Rate of profit of banking institutions
ﬂ!m#mﬂrﬂ

by the Central
&% g @

Ans. (d) 9% = @1 A 471 & BT A% G A
iﬂﬁﬁhmﬁmmﬁlﬂiﬂmm
= 7 frd A g Aen g # d
T R, T = FEAW B

17.  If RBI reduces the cash reserve rltln,w
happen to the credit creation?

afy s, oftand, Twm FOEEE w= oS ;
T A T F7 36T w5
(a) There will be no impact. /51 35T 78 g
(b) It will decrease /ME STV
(c) It will increase/@g A4 |
(d) None nf‘thum?‘-rﬁ # Eﬁl‘é Lk

-----

m?ﬁrﬂﬁrnmqﬁﬁqmﬁ#rilmﬁ!ﬁﬁ E
S A e st s e ¥ o
Eamirwama;rﬁrﬂhurﬂﬁﬂwiﬁﬁmmﬂ &
#1 3 HEE d amam dafr A A A =
ﬁﬂ&'ﬂmmﬂﬂmﬂiﬁﬂﬂﬁmﬂ'ﬂﬂiﬂﬁqﬁﬂ _
3R o Foam s, w0 9w & Ao g r'ﬁ-
18, In which of the following type of econy
resources are owned privately and the '

objective behind economic activities is profi
IIIlIng :

= # frw wem & ardsmaer § o

Telt arfitemm g ¥ s anfiles ik
WS Teyd W9 wisw = w47
(2) Capitalist§HTE (b)) Socialistrmmes &
(d) Globaldfrs

~5 Mixed T

.hns.u};tﬁrﬁaﬁmﬂﬁqﬁwﬁmﬂﬁaﬁ

AER £ # Wi sl e W Stem

Hi F B E

19.  The one Hundred rupees note bears
signature of :

(a) RBI Governor/ 5.4 3rd wy
(b} President of India/smm G
(c) Finance Minister/fm o
(d) Finance Secretary/fm wfirs
Ans, (a) : ﬁ‘u"ﬁﬁﬁﬂﬁﬁlﬁﬂm
ﬂﬂ#ﬂmﬁﬂlﬂlﬁfﬁ%#mﬁﬂ

fom wfem & e @ @)

20, What is the full form of FEMA?
ﬁithEMA}'lir"{lme'rﬂ
() Funds Exchan Media Agency
() Forign Exchinge Managament Act

() Foreigy .
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‘g e 1 v fard e 47
(a) State Listarer g 4
(b} Concurrent List®A 3= #
{c) Union List/® g #
(d} Mone of these @9 # F1F 8
Ans. (a) : WA & HEEE A ST wEe o e 0
§ e &1 SR # w eEd § et @
= gt dw, 7= vE T gl & B o
A % =] #4 F AEm EY S E 97 (3 F 100),

{Wﬂsz:m@ﬁmﬂ;

22, Panchayati Raj System in India is laid down
under

ST 3 e e S g Sy T

(a) Fundamental Rights e S

(b) Fundamental Duties @ F7=

() Directive Principles of State Policy

T it 5 e a=

(d) None of these/ T # T
Ans. (g) : e e e el
m4m%ﬂﬁﬁﬂ?ﬁaﬂﬂﬁaﬁ¢mﬁaﬁnﬁriu
i & A A= # e S (SRR - 12-35) 9
R H e F A FEwE A (AR 36-51) T 9
m#ﬁs'ﬂi'ﬁﬁﬁfmmﬁﬁsl-ﬁdﬂrﬂm
23, Right to Education is a fundamental right,
which Is related is:
fovam =1 arftry T it siftre &, W TR
wHEitA #:
(a) Article 21 /3= 214 &
(b) Article 19/ =33 9
(c) Articles 29 and J0/a=EE 29 748 30
(d) none of these T 7 FE 7 "
ns. (u) ¢ P71 T SR v e s 8 R
WII-A# B1. 70 e 86 4 s <

o gt § 66 (R T 61) T Wl g O 47 Ans. () :

{a) m:auzlmaﬂu} . :" >
(b} Article 24/F % 24
() Article 20/HTRE 29
(d) Mone of these50 & Frf 7Hl

3 21
#q. 24

¥ 29

26, Current carriers in solid conductors are
B ATEE § ST e B f
4] Protons /92
{b) Neutrons/=[Tt
{c) Fmeelmmw'ﬁm
(d) None of these/57H # 15 78
Ans. (c) a’mammﬂimmﬁﬂﬁ '
et & am A g 4 S i‘ !
ﬁﬁnﬁmﬁqﬁﬁﬁﬂﬁﬂi. i
yerfa wRe £
AR ear quitnfmm
7 e i fo e o g A
a .umeknmhl
: }mhm&m e
ib‘} Distance Travelled b
m:}lmiﬂ.ﬁ
her e e
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BBS =885 +115%115-885
(a) 115
(c) 885
e qragy i Ans. (d) : 71 885 =n, 115=b
(a) Cale; . e g o §- axaxa+bxbxb
ciuim mll-"hllﬂ{ﬂnﬂﬂ.}
‘ (CaSO,) axa+hxb-axh o :
(b) C“: ﬁt“‘““‘ axychloride (Calcly) = a+b' {“"‘h'}(‘ +b 'E}
© s (Calxcly) 2’ +b?=sb (nz—r-h’—uh]
ﬂﬁumbrcmbunuﬂmﬂﬂ
_ m{“&l‘iﬂﬂ,} ['.'ﬂ}+=|:|13={'ar|-l:|-”'a2 +b? —al}]]
(d) sul:llumd'llnridemac]] 8 e
e I:h] I!il !]EE [Hlﬂ] = a\:.-_h:llr.l_ 5 'uE
: 3=+ . = 1T
i - B Gy
A lwmmee =i qrray (a) 4++15 (b) 4-+/15
wifea wige : © % @ |
m 5 iﬁ'?r m—”ﬁ =) Fﬂ%T 2
e “’“ﬂilz - HIYA T Ams, (b) :
. C peErcents &n[pumg‘ﬂdl 18-car L
1 !-'iﬁ'#'ﬂ:i' e uﬁ:mrt S SPEJ,_:E
\a} 60% (b) 75% o
(c) 80% (d) 100% W A .3
Ans, (b) = - 24—ﬁfﬁ'ﬁﬁﬂ{lmlmm11 __-ulrj__ﬁ ﬁ_ﬁ {Jf_r-—ﬁ)
IE-ﬂﬁEﬁmlﬂﬁ'ﬂM=%n]m-?5% V543 J5-3 (ﬁ)zﬂ(ﬁr:
30.  Orange contains abundance of ~ 5+3-2415° &-
W & ageran & g & -2 :“;"ﬁ=4_,jﬁ
(a) Vitamin C/FA2IR C 3 O _
(b) Vitamin A/ A sale s Maerehnd :,%fﬁ;‘;“ﬂf i
{c¢) Vitamin Bfazfim B revenue '“"Whﬂhtw
(d) None of these/57H # = 7 :ﬁﬂﬁfﬂ ‘{F;E-l;];:rmi“m : #_
TP oy O e
I EE e 41 seE i @ wlt @ @ e @ (b) 10% decrease/10% w2
fazifier A 1 TEEGE A A 3 gee S (€) 16% increase/16% W}
B = &1 (d) 16% decrease/16% |
* V196 56 mm'g—ﬁmmn[“h_:;-]‘
A1 .
(e) 224 3 i sfwm ot -
Ans. (€) 30+ 20- 100
. -0t
196 ~ 36 el 1 s o & e o 8
V1 38, \ __ a8
—_—— The 3 i
i - S T R R I:|1--i-i i
| =18 ‘age increases by 20%
| p=(ify=d2d &

E— B e
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() 28 year/28 4 mslmﬂ
() Myearw34 T (d) 37 years37 T
Ans. (d) 2 THT W=xT

s e 0= st 36«

FESLEES L SH[IE.E:E?—J

100
74+ x=111
=137
3. uwer o fare e b
| () g (h) At
(e T (d) e
::.m. farsi
FE
$ e
I e
T I
37, ‘=t w waiaaErEt wE-ar 87
(a) R (b) EER
{c) = _ (d} T
‘Ltm.[h}:?.‘firmﬂﬁﬂ - gER, ™, WE
v, T

o & A - g, A5, Bowm, T, 0, EE
A W,
| qiEET - S, A
38 'H9 @ g awen’ aam ot e R
fareeg W ® T ¥rEg 0
(a) Hoir
(c) W (d) el
Ans, (b) : ¥4 I §4 T - HHEL
w5 w30 W s
AN - WHE
(9 w2 & T A - e
39, “nmm & W W' gerat & e fat)
s () T A I (b) 4E H TG A
_ {c) =g A (d) F W

balance, While 'nnhpihnhiﬂ,#llﬂll
scientific standpoint, he never ‘ﬂ*.ll;w
nmwmhmzuﬂmﬁslmbl.._ !
believe, in a benevolent power interested in men's al -ﬁ“ :
but, as a self-proclaimed non-believer, he
a?.&:mmghmﬁ:lhmllﬁ:mdﬂmhtnl}ruftm
Children he adored. Unlike Wordsworth, he did not see
them trailing clouds of glory from their recent sojoum in.
heaven, He saw them as blossoms of promise wnd
renewal, the only hope for mankind.
41. A many-sided personality means

{a) A complex personality

(b A secretive personality

(¢} A person having varied intercsts

id) A capable person.
Ans. (c) : According to the passage as given in Seco
sentence of paragraph, ptHﬁnum.}nyudtﬂdm,E,_
writing, fighting, political and social evils shows t
the word "many sided personality” refers to a person)
having varied mterest,
42,  Pt. Nehru enjoyed

(&) Reading and writing books.

{b1 Fighting political and social evils,

{c) Resisting tyranny.

{d) Duing all these and much more.
Anms, (d) : from the first half part of the paragraph
amﬂnmﬂutptﬂdn‘ulmudrﬂdm&‘h’nmihnﬁﬁ
fighting political and social evils and resisting tyranny.
Thus the perfect choice would be option (d)
43.  Which of the following staiements reflects Pr

Nehru's point of view?

{a) Humamsm is more impartant than Science.

(b) Science is supreme and Humanism is
subordimate to 1l A

{e) Science and Humanism mm '

(d} There is no common lmuﬂ ¢

and Humanism.

Ams. i;u]-l'lhﬁhdmtﬁn
Mehru's point of view. ie "
cqually important”. A the
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Famous — Well known to may peopls

Avfal — very bad or unpleasant

Steady —» Developi : ;
and at a regular rgﬂflg' growing or happening gradually

45.  Give Antenym for the following:

':'l'llullluut

2) Obvious (b} Limpid
(c) Opaque (d) Clear

A-Ill- {t’ 5

Transparent— That, can be seen through

Oppo —» Opague — Cannot be seen through
Other words-

Limpid — (used about liquid etc) clear,
46. Select the related word from the given

alternatives:

Ornithologist : RBirds :: Anthropologist ; ?

feg m i # wdftm we W o
ilﬂﬁ'l{:

gaitfamT-T : gafi :: Jfagae : ?

[al plants-":ﬁ'ﬁ (b)  Anirnals 7]

{C]_ Man_ki_nd.-’ﬂ'm (d} I-',n'-f'lrnnmn:nt-_"ﬁlfi'{'ﬂ_'[
Ans. (¢) : 58 w7 wl fErED o = s F il
FHt wwn fawEr aEe # TR 1

47.

Choose the word which is least like the other
words in the group. :
IW VI W WU @A A WYE & Ara e
# "ol T T

(a) Curd=# (b) Butter/ TG
(¢) QilAd (d) cheese/ T

[ﬂu.{cj:'ﬁamﬁf‘uﬁ#mﬁfﬁaréwﬂmﬁiil '|

48.

In a certain code, PRODUCTIONS is written

as QQPCVEUHPMT, How is ORIENTATION
written in the code?”
frt faferr ®= H PRODUCTIONS &t

QOPCVEUHPMT fomr smar @1 5t %z o
ORIENTATION frw wart fovan smumr?

(a) PQIDOVBSINO  (b) PQIDOUBUIPO
(c) PSIEOVBSINO _ (d) NSHFMVBSINO

"Ans. (a) : B ¥F1,
k"o » uw ¢ T 4.0 W &

itd pdoatd —1d w1l e24 i e ) G R 1 ST
Hg 'y ¢ ¥ F U B P M T
&t ww, |

& ey B R
1ol -1 wl -1

R ST (R L Y

s waw s e & fr e, ffEE 9o R

s0. If the 25" of August in a year is Thursda
number of Mondays in that monthis.
afy faedt ad & 25 e w1 TEER €, @
wé o wroEw w A '
{a) 3 b) 4
{c) 3 (d) 6

Ans, (¢)

(2] (23) (24) (25)

!-'#Tﬂﬁﬂ' HTETHN AHAR X |

WA: WEM § WEm 1, 8, 15, 22, 29 30T ) 9RO
HIMGaH % 950 = §
51.

In which of the following cities Light H
Project is not implemented? "

fa= @ & fvm w7 § wree wraw oftae
Ferar=ra= =i gan &7
(a) Agartala/SAA  (b) Ranchi/f
(€) Chennai/=#% (d) Patna/Te
Ans. (d) : 52 FER SfOTET FTE wEl) S
HEeATEA AT # @ T AnE eE S
wit i faed srraen (g, o (@

(FW w2w), R (N3 ¥, TEEE (T
(AT #

5.  Which Indian telecom company s wa {
strongest brands?
HA-H aEdE e wed fag @
HEH Ao w1 47 )

(a) Reliance-Jio/fmma=a-fasn
(b) Bharti AirteV TR TR

- R

[ .1{.

ad s2b ol 1 oad b 4l

sy 5 1 W gl

el .
= —=

— —

e i — e ——

Hd ) VOodarone 9l siSi-
R e S
i
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o e & el wap A

ﬂ:c'
drought) was recently Launched from which

'!t!hhllﬂlt
" (asis on Lands in

drought) e B f W & faw w

¥ gy @ MY

(a) Rajasthan/T=

(b}

{c) Hihar 98T

{d) Madhya Pradesh/ e %431
Mq.;:mﬂﬂmﬁﬁ!uﬁ@ﬂmﬁmﬂmm?ﬁ
Tz & @ 47 W AH FE-I0H (BOLD - Bamboo
Grasis oo Lands in Drought) T @ St ¥
| st oM s 19se § wNfE UE A
fara &1

s4. Which is first country to get free COVID-19
vaccines through the COVAX scheme of United

Nations 7
M W WEER (COVAX) Hrat *

ik A :
sty wifEE-19 # ogew d=E W A
g F9T A7

ih) Nign:ri-:l."-'-lﬁm

{a) GhanaH-T
(¢) Afica/SEH (d) SudanEH
o

Ans. () : 5 TE F S (COVAX) 3§
ﬁﬁ!—lﬁgﬁﬂ?wﬁmm“ﬂmﬁl
§5. Who is the second Indian born American

woman astronaut te fly to space ?
siaftey 1 W A A g e arafient

wfgen stnfamarh = §7
(#) Sirisha Bandla/frEm =50
(b} Shreya Badla/S51 F1EE0
{c) Ritu Karidhal/fiq #Hras
(d) Eﬂmmmmmmm
ﬁﬁ.{-}:fﬁﬂmmmﬁﬁﬂiﬁmﬂ‘ﬂﬁﬁﬁ
e sif el #) fofm W@ @
i 41 Ftm s 7 g W
ot 04 (e e v A D 81

O
, gt ' -

Iﬁhﬂmﬂﬁw {Bamboo Oasis on Lunds in

7 e B T
s

-.'-'I
|

Which State in India is first state
an end to end e-Cabinet System 7
T =T W WA yew ek, -
T Ut e |

(&) Himachal Pradesh/ T R

{e) Goa/m#

(d)
Ans. (b) : e w27 A Yo T oA W
E—‘iﬁf—éﬁﬁzmﬁmﬂﬂi#!ﬁﬁﬂ' '
3 7 T (Fefwee) === i R T '
%8, Which Indian ministry recently  launched

UDISE+ for 2019-2020? 1
Far e iR g T @ f 2019-2020 %

firm =4t omd. TS, + (UDISE-) 9% et rerr?

(a) Ministry of Health/FTes W :

(b} Ministry of Education, Tl HETe

(c1 Ministry of Finance/ 8 Wi

{d) Ministry of Home AffirsSJ8 LEIGL]
(ams. (b) @ (oo A @ o4 - 2019-2020 & F
g aErmd + (UDISE+) I Farl il T A
afreee fefgee ST fEd W O @
% fory e e G TTGR 1 T AS H WRI
Fﬁﬁﬁ#@#ﬁt&ﬂﬂ?ﬁﬂﬂml[ . \
59. Smurtphone maker ‘Vive’ appointed which

cricketer as its brand ambassador? )

s Rt e 3 faw fwdse et w0

AT Wiy wEwEt g fea? '

(a) Virat Kohli/fame @it

(b} M.S. Dhoni@¥, TH. LiEi

(¢} Tshant Sharma/f¥iF T

(d} Shikhar Dhawan/ Pt 557 _
Ans. (a) ; W A o A & A e
o et B ﬂﬁim&;ﬁ 4

60.  Artificial Intelligence  (AD b

——
" lI | -
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‘How mony

“with Nepal ?

et T e & wfie wren w5 €7
(a) Fiverty (b} Four/&Em
{c) Threed (d) Twordl

Ans. (a) : 9T # Ho w0 A 5 g o B
IOEE, TW wW, Bem, o w dme, e
TR § [, THe, eE, s w e
Rl - S e—— fefsam, s
=T # e s

61.  Which of the following is the capital of Costa
Rica 7
fo= & & ey e o et vt o 7
(2) Beijingifsin () San Josed= A
() DelhfEmi (d} Dhaka/3mm
Ans. (b} :
T
il CIED
wHreifta T e
BILGH T
TS FiE g
63.  Which among the following is the official

language of Union Territory of Lakshadweep ?
VST WM w anfhwfts umer

forer o & @ &7

{a) Tamil@fE

(b) Malayalam/SFaem

() Grest Andamanese/ Tz et

(d) Sinhala/FHEwm
Ans. (b) : FZWfE Wy TEW A afewits
WErqTe &1 THS TAEE FAR f 9% a6 6@ g
WA ® i W T {1 AR s Rl @ PR
64. As per Coonstitution of India, what is the

maximum strength (number of members) of
the Lok Sabha 7

{b) 540
—C% -7

Ans. (d) : W07 % HAOTE A wETa G a)

e 552 8 weg ad 2020 1 s W (2 e
| ) e w6 e v a d
: R R R

(¢) November 2/aT 2
(dj October 3/35 3

Ans. (@) : "

faars - femm

14 Tema - el R

| S - P sirprend g

26 T . Tt T e

3 sz 7 T

66. Which of the following countries is
member of SAARC ¢ W
9 T W A A (SAARC) T e
(a} Nepal/~rd :
(b} Bangladesh/aiemag -4

(c) Afghanistan/ SRR

(d) Myanmar/ =R
Ans. (d) : P W FT A a8 £ O (SAARC
(@ ufrnd deft wem e =1 ey
1985 F = F e v wm A w
&1 st af 2005 % weEr T A W g
T (AU # fm #1 Wk gt SR e
A W, v swE, b, sy T o
W & g W wE o
67.  In which of the following places Ajanta

caves are situated ? -

P & @ few e v sret- e
frorar £7 :

(a) Bengaluru/37ws (b) Delhif

e} Aurangabad/ SRR (d) Luck
ABs. () : 3AT-UEN A e W
- TR & sfttram R s
A e w1 i e e
AN T, s & s € ol
A o § walw ¥ S 1983

L

T (24.08.2021 = Shifi-l m- Tl
CPET (24.08.202 - g b
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9. Which of the following planets is closest to the

Sun ?

Profrfi # & == w ow g & vl qade 47

(a) Earth /gt (b) Moan /Hza1

{c) Mars /T (d) Mercury /AW
Ams. (d) : §F & w8 TS mw qw @ 7eh, o @ gh
FEn A, 0F F A o ) gell ¥ ar e
R ==, Tl W UEEE IR 21 e dheEe W s

wF gEei it wad S g &) g & 20 & W o
(e w=E R
L T, Who was the first Asian Winner of Nobel Prize?
' i YreRn WS A vaw ufiwmd ot &2

fa) C.V. Raman /514, 93

(b) Rajiv Gandhi /A T

(c) Rabindranath Tagore Ad=Am i

(d}) Mother Teresa /72T 2t
Ans. (¢) : F9E TR
w2 £1 5% wf 1913 F wiee & a3 i Al
T & o A B AR W = 1861 § Siewm
E1 W A Us #4, FOE, AWegens, S ud
R ) =E & e v w0 oy Cmeer @
Hl| WA US ST § Opme e S 3

Frw - Profefir

| T Uy sl gyt (71-75) % e g
' WFE | g @ st @ wmeaw F oo aw
% frm il 3 faw 31 e w9 st wEE e
% s s wftw & oo e & san &

TE—— FIT T
- e

(c) i s wiE (d)

Ans. (b) : M & = 7 § B Pe

sifeen vt i wad swrers aw b
7). wEN W HAN gEd W W wee
(a) T TEH B (b)
(c) FEE T () FEEm :
Ans. (c) : T 1 F o § sl g wER @ w20
¥ W Fe we a aw x
74, ot ol T o FEOTA-g & E T
(a) A 3T duy
(b} © 3 TR
() ST T FUVE
~ (dy W, A R e e <
Ans, (d) : B3 T TN % SAW A W UE & ]
T ¥ wnm A i, U T o R )

L

75, ‘far’ v w g vara g :
() e (b) famge %
(c) PftmEm (dy P

|Ans. (b) : B2 T 71 Ty a0 vl e 81 |
W U AR wyEl (76-80) 39T
fm s & o @ sfrae - ‘ '
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g #1 v w5t oAl o R A
¥ Y 9 W TR S A &t
7. fa W @ W ad vt gt w6
# =rifen Twes oo ¥ He
() Teeg oifee = =l &
(b} FfA st witerm w1 e 7
(c) T4t wifrw gfssd & oo &
(d) FfE & &5 T HEAEy &1 7 2
(Ans. (b) : T & AUV [AWA AFE A1 qad TE AT
rem @ T § i oo ww 9 wgm wER A

wifersree = fot 2 |
77. #mrw faA-UEi A WIS w1 WER A
s IF fiear & o =7 gfve fielt &
(a) Weafe srfa |

(b) Gt i senfEA 7
(ch Hﬂ"{ﬂi'ﬁfﬁﬁﬁﬁwaﬂﬂ
() WWWTQ , T8
Ans. (¢) : Tt fo=-ref @ e St o E"“"‘_-"|
et et R & o feh )
8. fiwg o qivamas w7 & 99 H g
{a;mﬁﬁmmﬁmﬁm
(b) = 1 afayfia wieeal
(¢) s = =i=a | giea
(d) farm-amgma # W = A
Ans, (a) : AT A HEW @wE & W aeg O
= # fen qgn F0 8 T # P weeEey g
fr s wftar-m wiA &9
‘g yre W Aty §
(a) SEE T HATH AT

79,

of marks of |
h shows the ratio i o
:avht;g::faphy of 7 students in an EXANTE
v & e e 7
5 stei o SigaT S T .

F 2 1 1 1 ' T

T {Shedend )

£

How many students got more marks in Hi
than in Geography ?
fFmr BTt 3 e 2% arven s
siw srfaA fap?
(a) 2 by 3
(c) 4 {d) 5 :
Ans. (b) : 1% § sfEm 2 g ST Ty T
3 SE-TE A A A v | § sfw g
T 1 S SR T e s it
w: UH BT 4 dem 3 & ;
82.  Which of the follawi ot foel
in History than in Gfl.::::::;?_-“ .
Py # & fort wnit 31 syriver 2 e B

(@) 1,3,5.6

(c) 1,4,5,7 (b) 1,2,3,6

FURLERCE ol
(c) &t & foru sleel ) O

(d) 4,57 58

IS SFT 1 | 9

Ans. (b) : 7%

JI.:JI._I 0

L

(d) TE 3R A ST

i, o
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@;ﬁ.mﬂw daty/ STHE AN

: s # g A & 3= = w8
e e v 1 7 41 s s
m&i#mmﬂh“ﬁﬁl

§4. The difference of the maximum ratio and '

minimum ratio of History/Geography is

=fagra g afirwan srum s =
A AT R

(a) 0.45 (b) 0.50

(c) 0.50 (d) 1.20

|mm1 T 3~ 1,55 - 0.35=1.20

#S, Student 4 got 60 marks in Geography. His
marks in History are-

BT 4 T g ° 60 ¥ fien TEE e o
3w

fa) 48 ib) 6B

e} 75 {d) None of these
Ans, (c) : 97 4 5 for ghEE s s A ww AR H|

| ]
R = |25 = =
L0

- 4— 60 FF

o, L L

1 s § 3 75 £ i
Directions {H«ti-.'.ll]} Study the graph and answer

the following questions :
fofor (86-90) : TR = AT W FrefeiEw

T & I 2 ¢
T waw A o

Proalwidunn ol Raw |-|-o-'l|r| Sl Tarars

3
4

2

EAT

1

b

e b

o

=
&=
o

Mils-in A

SRR

HIBE- T panmEa
Hik=10

] LRV

3

‘&lL The maximum rise

-1l f

in the production of raw

wool was in the year:
FER 54 I § Ieadd gl w1 A an
(a) 2017-18 (b) 2020-21

__(¢) 2016-17 (d) 2019-20

§8.  The average production during the eight years
WAs -
TS Al & dnre afrem SeEa
(a) 67.2 MT (b) 62.5MT
{e) 50.0 MT (d) S2.BMT
| Ans. (b) ;
_ 56+51+53+654 76+ 5B+68+73
3t 37U = X i
= % =62 59fe= ==
89. The maximum percentage decrease ﬂi’ |
production over the previous vear was in the
year:
FrareA # firest ad =it qerr ® sl wiaww
wea faem ad oft?
{a) 2018-19 (b} 2017-18
(c) 2013-14 (d) 2014-15
Ans. (a) : F99 21 T 2014-15 9 2018-199 & M|
o 1 Ao § wen g R
2014-15 7 3rdie wfwm w=a

5
= —x100=8.928%
36

2018-19 F 2nfiw afrem @27 = Exlﬁl}ﬂﬂﬂa

i 2018-19 ﬁﬂw&qﬂ#wﬁw

e T #

90. The production of raw mlg
ufﬂugrdl:liuuh

2014-15 ¥ wed FA W 3

r-n,. o i

m w mmwﬂl ’
{a) 13 '

O 1HE L
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SR s

—— = iz i

(a) A (b) B
© D @ C
Ans, (d) : -

freds | 20158 qeer ¥ 20187 52 (2
29800 — 27350 = 2450
28000 — 26850 = 1150
29100 - 26200 = 2900
30060 -27850=2210 |
1 3000028640 =1360 |
#: Hewi C % fom 2018 & wivW, 2005 @
(F= af =i @
94. In which of the following year :
difference between the highest and
the preceding year 7 T MeTease that o F= 7 ¥ few "??m l

hﬁﬁmcm%mmﬁ Fhiw soamw st = wftom

ool e B - 8 e

ﬁa&ﬁﬂmimarqqﬁgmp hermery §7
(a) 2016 i (a) 2017 (b) 2018
(b) 2017 (c) 2019 d
[ (c) 2018 (d) 2019 Ans. E Eu—— A%ﬁma*ﬁ:m} I!}m
" bt e : : E
Ans. (a) ﬁ:t-'ﬂﬂ'a C % fom FHH =29800 — 24600 = ¥5200
- =mRH | ﬂﬂﬂ?ﬂﬁﬂmmmzmqﬁamtmi'
| 2016 | 27800 - 26200 = 1600 | Heh C & R it s 30000 — 26200 =23
2017 | 2520027500 = 400 | W D & forw sty s 32000 - 27850 = T415¢
2018 | 29100 - 28200 = 900 | mE%ﬁ'ﬂ{mm3M-zaﬁw=tl""
2019 | 2940029100 = 300 e ﬁﬂfj*_ﬁiﬂiMIﬂi T Five 3 4
2020 | 30000 - 29400 = 6{0) 95. In the year 2019, commission =
o 2016 ¥ AT C AW A T R ]| aeoman D WS approzimately what
B T 7 st afy 2 ot 2 :Em s intalls
2019 ¥ AT D grr arft o &
92. Im the year 2018 the commission of B was ﬂﬁﬂﬂmqmmmmﬂ
approximately what percent of the (o] (a) I8 ® 21 . d
munﬂﬁmﬂrnﬂhyﬂﬂlﬂmnhmuyw? {c} 52 d) N
ad 2018 § B = wafto wiet dewet % o () None of thesesit
ad & et weltyrT & e e e an F‘“’-“] FETE % = L_:f;mm *100 = 121. 14% s
(a) 19.05 (b) 98 = _
(¢} 80 (d) Hone of theié lhtquumﬂnu. '.'S"G-IIIILB] : Study the table ang
2 2018 % it Gt w1 3w aie ynabton ol
Ans. (s) : ¥ ﬁinmmn}:mtmw -
= T1,46,960 mﬁmﬁhﬁiﬁmﬁ "B
af 2018 § B # 99 = £28000 - Number of accounts s
o opened (in
L AT TR pp— N el i .
BRI e x 1002 19, Prfir i ¥ -
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a2
ful ]

45 | 50

of the number of opemned accounts is the
maximum

frafafas § @ fem e § o =a =
iz &% sitaw wgew &7
(@) June S (b) September/firt
(c) Apust/3TE (d) May™%
lm_{h}:q#qﬂiﬁﬂﬁfﬂmhﬂﬂmﬁﬂ'ﬁﬁ
- ;5+12+]l}+3fr=|12=
4 4

W#ﬁ@gﬁqﬁaﬂmm
 28418+45+42 _ijl;i‘-:_.s_,._ﬁ

4
_ 35+32450+45 162 _ .,

4 4
e w8 w6 s =
_ 65+30+35+50 180 _ o
= : 3
| R F w6 i
_ 55+45+40+460 _

28

=50

3
s e i 3 A s 7 i T R
97.  The number of accounts opened in August is
approximately what percent more ot less than
lhn_bu'-fnmﬂlﬂllﬂ‘d“‘m? s
sy & gt e a8 s o g W
s i e et o e a1 67
(@) 335 (b) 35.3

(c) M6 (1R —

R .&ﬁgﬁ =180

=18

-

&

mm=%-lﬂ

=JQ Wl E

In which Share broker is the a numbér
dmhwmﬁm‘w e
g &7 o

(a) Angel/T
(b} Sh
(c) Tradebull/ZEq= ,'.
(d) Zerodha/HET e
Ans. (c) : U % R @ A Sfww gwn
n 35+13+35+55+55=1H=“&3 (|
5
o 1 g ) st g
_ R2+18+32+30+45 _ 14T o0,
5 &
i # g W atea wen
_30+45+50+35+40 200 .
& : 5
Faqm & we W A s e 1
35+42+45+ 50460 22 .
= Bt ,ﬁ; ]
s e 3 g el 4 o o T AL
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